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QUESTION 1

Given:

package a;

public abstract class Animal {

protected abstract void walk():;

}

package b;

public abstract class Human extends Animal {
// line 1

Which two lines inserted in line 1 will allow this code to compile? (Choose two.)
A. protected void walk(){}

B. void walk(){}

C. abstract void walk();

D. private void walk(){}

E. public abstract void walk();

Correct Answer: AB

QUESTION 2
Given the code fragment:
String sl = new String("ORACLE"):;

String s2 "ORACLE";
String s3 = sl.intern();

System.out.print((sl==s2) + " ")
System.out.print ((s2==s83) + " ")
System.out.println(sl==s3);

-
¥
-
r

What is the result?

A. false true true
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B. true false false
C. false false true
D. false true false

Correct Answer: D

Console 1 x Crnania 2 x

false true false
completed with exit code: 0

QUESTION 3

What makes Java dynamic?

A. At runtime, classes are loaded as needed, and new code modules can be loaded on demand.

B. The runtime can process machine language sources as well as executables from different language compilers.
C. The Java compiler uses reflection to test if class methods are supported by resources of a target platform.

D. The Java compiler preprocesses classes to run on specific target platforms.

Correct Answer: A

QUESTION 4

Given:
public interface ExampleInterface{ }

Which two statements are valid to be written in this interface? (Choose two.)
A. public abstract void methodB();

B. final void methodG(){ System.out.printin("G"); }

C. private abstract void methodC();

D. public String methodD();

E. public int x;

F. final void methodE();

Latest 170-815 Dumps | 120-815 VCE Dumps | 1Z0-815 Exam Questions 3/5


https://www.pass2lead.com/1z0-815.html
https://www.pass2lead.com/1z0-815.html
https://www.pass2lead.com/1z0-815.html

P 2L d https://lwww.pass2lead.com/1z0-815.html
ass ea 2024 Latest pass2lead 120-815 PDF and VCE dumps Download

https://Pass2Lead.com

G. public void methodF(){ System.out.printin("F"); }

Correct Answer: BG

QUESTION 5

Given: What is the result?

import java.time.LocalDate;
import static java.time.DayOfWeek.*;
public class Main {
public static void main(String[] args) {
var today = LocalDate.now() .with (TUESDAY) .getDayOfWeek();
switch (today) {
case SUNDAY:
case SATURDAY:
System.out.println("Weekend");
break;
case MONDAY: FRIDAY:
System.out.println("Working"):;
default:
System.out.println("Unknown");

}

A. Working Unknown

B. Unknown

C. Tuesday Unknown
D. The compilation fails.
E. Tuesday

F. Working

Correct Answer: B
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x x
Console 1 Console 2

Unkown

Completed with exit code: 0
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